CITY of NOVI CITY COUNCIL



Agenda Item 4 August 24, 2015

SUBJECT: Approval to award a construction contract for 2015 Neighborhood Road Program Contract 2 (Asphalt) to Cadillac Asphalt LLC, the low bidder, in the amount of \$1,209,822, subject to final review and approval of form of agreement by City Manager's office and the City Attorney.

SUBMITTING DEPARTMENT: Department of Public Services, Engineering Division BTC

CITY MANAGER APPROVAL:

EXPENDITURE REQUIRED	\$ 1,209,821.50	
AMOUNT BUDGETED	\$ 1,608,000.00	
LINE ITEM NUMBER	203-203.00-865.435	

BACKGROUND INFORMATION:

Each year, the City of Novi selects residential streets for reconstruction, repaving, repair, and/or rehabilitation based on PASER ratings, staff's field observations and resident concerns. The 2015 program consists of three separate contracts: Contract 1 for improvements to White Pines Drive (currently under construction), Contract 2 for asphalt streets, and Contract 3 for concrete streets (elsewhere on this agenda for consideration). Altogether, the City will be making an investment of \$3,700,000 in neighborhood streets this construction year.

One of the primary goals of the Department of Public Services' asset management program is the preservation of the City's roadways to prevent costly reconstruction. Novi's neighborhood road and preventative maintenance programs are intended to result in an overall improvement in the quality of the City's roadways and consequently increase the overall PASER rating for the roadway network. The neighborhood road program will typically address large sections of streets that require significant rehabilitation. Rehabilitation techniques that will be considered include standard methods, such as mill and overlay, partial-depth and full-depth joint repairs; and will also include other emerging technologies such as pavement interlayers, asphalt recycling, full-depth reclamation, and the use of other materials and methods that improve the strength of the pavement and resistance to reflective cracking. The objective is to preserve good quality roads using lower-cost rehabilitation techniques, rather than allowing the roads to deteriorate to a point that requires road reconstruction involving much more effort at a higher cost. This type of rehabilitation is intended to limit further deterioration of existing pavement defects, and extend the service life of the pavement.

The streets selected for this contract include all of the streets in Orchard Hills Subdivision as shown on the attached map.

Four bids were received and opened on August 12, 2015 following a public bid solicitation period. The lowest responsible bidder is Cadillac Asphalt. Cadillac's bid is recommended as being in the best interest of the City as it is responsive (i.e., Cadillac has complied with all requirements of the bidding instructions) and it is the lowest price. Cadillac has successfully completed work for the City in the past.

(OHM's award recommendation letter including the bid tabulation dated August 13, 2015 is attached). A summary of the four bids is as follows:

Contractor	Bid Price (including Crew Days)*
Cadillac Asphalt	\$1,251,421.50
Florence Cement Company	\$1,267,856.00
Ajax Paving Industries	\$1,288,761.40
Pro-Line Asphalt	\$1,328,619.00

* Crew Days are included to compare bids, but are not included in the award.

It is anticipated that this project will be completed by fall 2015.

RECOMMENDED ACTION: Approval to award a construction contract for 2015 Neighborhood Road Program Contract 2 (Asphalt) to Cadillac Asphalt LLC, the low bidder, in the amount of \$1,209,822, subject to final review and approval of form of agreement by City Manager's office and the City Attorney.

	1	2	Υ	Ν
Mayor Gatt				
Mayor Pro Tem Staudt				
Council Member Casey				
Council Member Markham				

	1	2	Υ	Ν
Council Member Mutch				
Council Member Poupard				
Council Member Wrobel				



ARCHITECTS. ENGINEERS. PLANNERS.



August 13, 2015

City of Novi DPS - Engineering Division

26300 Lee BeGole Drive Novi, MI 48375

Attention: Mr. Ben Croy, PE, Engineer

Regarding: 2015 Neighborhood Roads Asphalt Program Recommendation of Award

Dear Mr. Croy:

Sealed bids for the 2015 Neighborhood Roads Asphalt Program were received and publicly read aloud by the City on Wednesday, August 12, 2015 at 2:00 pm. Proposals were received from four (4) bidders. The four (4) bidders and their bid amounts are summarized below and in the attached bid tabulation. The final Engineer's Opinion of Construction Cost for this project was estimated to be \$1,319,000. Please note that these amounts listed below include the cost of crew days (inspector days) for the project.

Contractor	Amount
Cadillac Asphalt, LLC	\$1,251,421.50
Florence Cement Company	\$1,267,856.00
Ajax Paving Industries, Inc.	\$1,288,761.40
Pro-line Asphalt Paving Corporation	\$1,328,619.00

The project scope consists of reconstruction of the existing asphalt 2-lane roads (approximately 7,300 feet of roadway) within the Orchard Hills Subdivision, including other miscellaneous improvements such as minor swale grading, isolated driveway approach replacement, isolated culvert replacement, and related site restoration. The work to be completed under this Contract includes the furnishing of materials, equipment, and labor necessary to complete the proposed work, in accordance with the contract documents.

Cadillac Asphalt, LLC, located in Wixom, Michigan, is the apparent low bidder. They have successfully completed previous recent projects for OHM in multiple communities in Southeast Michigan, and have also worked previously on City of Novi projects. Based on our review of the bids submitted, and discussions with City staff, we recommend award of the 2015 Neighborhood Roads Asphalt Program project to Cadillac Asphalt, LLC, in the estimated award amount of **\$1,209,821.50**. Please note that this award amount is derived from the total bid amount of **\$1,251,421.50**, less the crew day cost of **\$41,600**, per the submitted unit price bid for the project by Cadillac Asphalt, LLC.

T 734.522.6711 **F** 734.522.6427 2015 Neighborhood Roads Asphalt Program Recommendation of Award August 13, 2015 Page 2 of 2

We look forward to continuing to provide our professional services on this project through the construction phase of work. If you have any questions, please do not hesitate to contact me at (734) 466-4439.

Sincerely,

OHM Advisors

Along A. Trahoff

George A. Tsakoff, PE Project Manager

Enclosures: Bid Tabulation

cc: James Stevens, PE, OHM

Cadillac Asphalt, LLC	Florence Cement Company	Ajax P
51777 West 12 Mile	12585 23 Mile Rd.	830 Ki
Wixom, MI 48393	Shelby Twp., MI 48315	Troy, M
	51777 West 12 Mile	51777 West 12 Mile 12585 23 Mile Rd.

Ajax Paving Industries, Inc. 830 Kirts Blvd, Suite 100 Troy, MI 48084

Pro-Line Asphalt Paving Corp. 11797 29 Mile Rd. Washington, MI 48095

	Engineer's Estimate: \$1,319,000.00		Dh 040.000	0.0050	Di	7 0000	Dhama 040.04	4 0000	Dh	
ltem		Phone: 248-380-3650 Phone: 586-997-2666 Estimated Unit Unit		7-2666	Phone: 248-244-3300 Unit		Phone: 586-752-7730 Unit			
No.	Description	Quantity	Price	Amount	Price	Amount	Price	Amount	Price	Amount
1)	Mobilization, Max. 5%	1 LSUM	\$53,625.00	\$53,625.00	\$63,000.00	\$63,000.00	\$50,000.00	\$50,000.00	\$65,000.00	\$65,000.00
2)	Digital Video Recorded Survey	1 LSUM	\$2,200.00	\$2,200.00	\$2,100.00	\$2,100.00	\$2,200.00	\$2,200.00	\$2,200.00	\$2,200.00
3)	Erosion Control, Silt Fence	750 FOOT	\$1.50	\$1,125.00	\$1.50	\$1,125.00	\$1.50	\$1,125.00	\$2.02	\$1,515.00
4)	Erosion Control, Inlet Protection	25 EACH	\$125.00	\$3,125.00	\$150.00	\$3,750.00	\$125.00	\$3,125.00	\$126.33	\$3,158.25
5)	Erosion Control, Check Dam, Stone, Temp	150 FOOT	\$15.00	\$2,250.00	\$15.00	\$2,250.00	\$15.00	\$2,250.00	\$80.85	\$12,127.50
6)	HMA Surface, Rem (Road)	17,700 SYD	\$3.25	\$57,525.00	\$3.25	\$57,525.00	\$3.25	\$57,525.00	\$3.33	\$58,941.00
7)	HMA Surface, Rem (Drives)	1,000 SYD	\$9.00	\$9,000.00	\$15.00	\$15,000.00	\$9.00	\$9,000.00	\$17.18	\$17,180.00
8)	Asphalt Spillway, Rem	25 SYD	\$10.00	\$250.00	\$10.00	\$250.00	\$10.00	\$250.00	\$15.16	\$379.00
9)	Conc Pavt, Rem (Drives)	650 SYD	\$15.00	\$9,750.00	\$15.00	\$9,750.00	\$15.00	\$9,750.00	\$18.19	\$11,823.50
10)	Sidewalk, Rem	10 SYD	\$8.00	\$80.00	\$8.00	\$80.00	\$8.00	\$80.00	\$8.08	\$80.80
11)	Culv, Rem	140 FOOT	\$26.00	\$3,640.00	\$26.00	\$3,640.00	\$26.00	\$3,640.00	\$12.13	\$1,698.20
12)	Conc, Curb and Gutter, Rem	50 FOOT	\$20.00	\$1,000.00	\$23.00	\$1,150.00	\$20.00	\$1,000.00	\$25.27	\$1,263.50
13)	Station Grading	73 STA	\$1,750.00	\$127,750.00	\$1,750.00	\$127,750.00	\$1,750.00	\$127,750.00	\$2,728.68	\$199,193.64
14)	Ditch, Regrade	300 FOOT	\$40.00	\$12,000.00	\$40.00	\$12,000.00	\$40.00	\$12,000.00	\$19.20	\$5,760.00
15)	Culv, CI C, CMP, 12"	140 FOOT	\$45.00	\$6,300.00	\$45.00	\$6,300.00	\$45.00	\$6,300.00	\$60.64	\$8,489.60
16)	Culv, CI C, CMP, 15"	30 FOOT	\$46.00	\$1,380.00	\$46.00	\$1,380.00	\$46.00 \$50.00	\$1,380.00	\$75.80	\$2,274.00
17)	Culv, Cl C, CMP, 18" Culv, End Sect, CMP, 12"	30 FOOT 20 EACH	\$50.00 \$300.00	\$1,500.00 \$6,000.00	\$50.00 \$300.00	\$1,500.00 \$6,000.00	\$50.00 \$300.00	\$1,500.00 \$6,000.00	\$75.80 \$80.85	\$2,274.00 \$1,617.00
18)	Culv, End Sect, CMP, 12 Culv, End Sect, CMP, 15"	4 EACH	\$325.00	\$1,300.00	\$300.00 \$325.00	\$6,000.00 \$1,300.00	\$300.00	\$1,300.00	\$80.85 \$80.85	\$323.40
19) 20)	Culv, End Sect, CMP, 18"	4 EACH	\$350.00	\$1,400.00	\$350.00	\$1,400.00	\$350.00	\$1,400.00	\$80.85	\$323.40
20) 21)	Subgrade Undercutting, Type II, Modified	700 CYD	\$40.00	\$28,000.00	\$40.00	\$28,000.00	\$40.00	\$28,000.00	\$58.62	\$41,034.00
22)	Aggregate Base, CIP, Limestone	6,500 TON	\$26.00	\$169,000.00	\$26.00	\$169,000.00	\$26.00	\$169,000.00	\$20.21	\$131,365.00
23)	Pavement Interlayer	17.830 SYD	\$4.25	\$75.777.50	\$3.80	\$67,754.00	\$3.78	\$67,397.40	\$3.82	\$68,110.60
24)	Geo-grid Reinforcement	19,040 SYD	\$4.25	\$80,920.00	\$4.50	\$85,680.00	\$4.25	\$80,920.00	\$3.58	\$68,163.20
25)	HMA, 5E1, Road	2,100 TON	\$85.99	\$180,579.00	\$102.00	\$214,200.00	\$85.00	\$178,500.00	\$90.52	\$190,092.00
26)	HMA, 3C	2,100 TON	\$81.46	\$171,066.00	\$83.00	\$174,300.00	\$80.00	\$168,000.00	\$79.39	\$166,719.00
27)	HMA, 5E1, Drives	1,000 SYD	\$18.60	\$18,600.00	\$24.00	\$24,000.00	\$40.00	\$40,000.00	\$28.44	\$28,440.00
28)	Spillway, HMA, 2-inch	25 SYD	\$30.00	\$750.00	\$65.00	\$1,625.00	\$20.00	\$500.00	\$101.35	\$2,533.75
29)	Conc Pavt, NonReinf, 6", Drives	650 SYD	\$50.00	\$32,500.00	\$50.00	\$32,500.00	\$50.00	\$32,500.00	\$50.53	\$32,844.50
30)	Conc, Curb and Gutter, Type D2 (MDOT)	50 FOOT	\$25.00	\$1,250.00	\$45.00	\$2,250.00	\$25.00	\$1,250.00	\$45.48	\$2,274.00
31)	Underdrain, 6"	200 FOOT	\$15.00	\$3,000.00	\$15.00	\$3,000.00	\$15.00	\$3,000.00	\$19.20	\$3,840.00
32)	Aggregate Shoulder, 21AA, Limestone	140 CYD	\$60.00	\$8,400.00	\$100.00	\$14,000.00	\$80.00	\$11,200.00	\$60.64	\$8,489.60
33)	Maintenance Aggregate, 21AA, Limestone	120 TON	\$30.00	\$3,600.00	\$30.00	\$3,600.00	\$30.00	\$3,600.00	\$20.21	\$2,425.20
34)	ADA Ramp, Conc	100 SFT	\$6.00	\$600.00	\$15.00	\$1,500.00	\$6.00	\$600.00	\$15.16	\$1,516.00
35)	Sidewalk, Conc	100 SFT	\$5.00	\$500.00	\$10.00	\$1,000.00	\$5.00	\$500.00	\$10.11	\$1,011.00
36)	Butt Joint, 2' Wide Drainage Structure Cover, Adjust	380 SYD	\$4.00	\$1,520.00	\$5.50	\$2,090.00	\$25.00	\$9,500.00	\$59.42	\$22,579.60
37) 38)	Drainage Structure Cover, Adjust Drainage Structure Rebuild, 2' Dia, 2'-3' Depth	6 EACH 3 EACH	\$350.00 \$75.00	\$2,100.00 \$225.00	\$350.00 \$75.00	\$2,100.00 \$225.00	\$350.00 \$75.00	\$2,100.00 \$225.00	\$707.43 \$909.56	\$4,244.58 \$2,728.68
38 <i>)</i> 39)	Sanitary Manhole Cover, Adjust	12 EACH	\$525.00	\$6,300.00	\$525.00	\$6,300.00	\$525.00	\$6,300.00	\$1,212.74	\$14,552.88
40)	Water Gate Well Cover, Adjust	2 EACH	\$375.00	\$750.00	\$375.00	\$750.00	\$375.00	\$750.00	\$1,212.74	\$2,425.48
40)	Restoration	1 LSUM	\$7,500.00	\$7,500.00	\$15,000.00	\$15,000.00	\$40,000.00	\$40,000.00	\$31,500.00	\$31,500.00
42)	Minor Traffic Devices	1 LSUM	\$63,000.00	\$63,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$2,000.00	\$2,000.00
43)	Traffic Regulator Control	1 LSUM	\$15,000.00	\$15,000.00	\$14,000.00	\$14,000.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
44)	Plastic Drum, High Intensity, Furn	150 EACH	\$17.95	\$2,692.50	\$18.00	\$2,700.00	\$17.95	\$2,692.50	\$18.19	\$2,728.50
45)	Plastic Drum, High Intensity, Oper	150 EACH	\$1.00	\$150.00	\$1.00	\$150.00	\$1.00	\$150.00	\$1.01	\$151.50
46)	Sign, Type B, Temp, Prismatic, Furn	300 SFT	\$3.00	\$900.00	\$3.00	\$900.00	\$3.00	\$900.00	\$3.03	\$909.00
47)	Sign, Type B, Temp, Prismatic, Oper	300 SFT	\$1.00	\$300.00	\$1.00	\$300.00	\$1.00	\$300.00	\$1.01	\$303.00
48)	Barricade, Type III, High Intensity, Double Sided, Furn	10 EACH	\$74.95	\$749.50	\$75.00	\$750.00	\$74.95	\$749.50	\$75.80	\$758.00
49)	Barricade, Type III, High Intensity, Double Sided, Oper	10 EACH	\$1.00	\$10.00	\$1.00	\$10.00	\$1.00	\$10.00	\$1.01	\$10.10
50)	Lighted Arrow, Type B, Furn	2 EACH	\$495.00	\$990.00	\$495.00	\$990.00	\$495.00	\$990.00	\$505.31	\$1,010.62
51)	Lighted Arrow, Type B, Oper	2 EACH	\$1.00	\$2.00	\$1.00	\$2.00	\$1.00	\$2.00	\$1.01	\$2.02
52)	Sign, Remove and Reset	30 EACH	\$100.00	\$3,000.00	\$100.00	\$3,000.00	\$100.00	\$3,000.00	\$287.01	\$8,610.30
53)	Post Mailbox, Remove and Reset	110 EACH	\$150.00	\$16,500.00	\$150.00	\$16,500.00	\$150.00	\$16,500.00	\$80.85	\$8,893.50
54)	Sprinkler Head, Relocate	12 EACH	\$95.00	\$1,140.00 \$11.250.00	\$125.00	\$1,500.00	\$200.00 \$75.00	\$2,400.00	\$75.80 \$45.48	\$909.60
55) 56)	Boulder, Relocate Crew Days	150 EACH \$640 \$/day	\$75.00 65	\$11,250.00 \$41,600.00	\$75.00 62	\$11,250.00 \$39,680.00	\$75.00 60	\$11,250.00 \$38,400.00	\$45.48 75	\$6,822.00 \$48,000.00
56)	Olew Days	φυτυ φ/uay	00	φ+1,000.00	02	ψ39,000.00	00	φ30,400.00	75	φ+0,000.00
	TOTAL BID AMOUNT			\$1,251,421.50		\$1,267,856.00		\$1,288,761.40		\$1,328,619.00
			-		=		=		-	

Page 16

BID

for

2015 Neighborhood Roads Asphalt Program

Bid	of	CADILLAC	ASPHALT	LLC	hereinafter	called
Bidde	er, or	ganized and existing unde	r the laws of or a res	ident of the State of	Michigan, doing busi	ness as
		CADILLI	AC ASPHA	LT LLC	······	*.

Insert as applicable: "a corporation", "a partnership" or "an individual".

TO THE CITY OF NOVI, MICHIGAN, hereinafter called OWNER:

The undersigned as Bidder hereby declares: that this Bid is made in good faith without fraud or collusion with any person or persons bidding on the same Contract; that the Bidder has read and examined the Advertisement for Bids, Instructions to Bidders, Bid, General Conditions, Supplementary Conditions, Agreement, Forms of Bond, Specifications and Drawings, as prepared by the ENGINEER, and understands all of the same; that the Bidder of its representative has made personal investigation at the site and has become fully familiar with regard to the conditions to be met in the execution of this Contract, and the undersigned proposes to furnish all labor, materials, tools, power, transportation, and construction equipment necessary for the construction of the Project and performing related work in full accordance with the aforesaid Contract Documents, including any and all Addenda officially issued, their receipt of which is hereby acknowledged:



The Contract will be awarded to the lowest responsive, responsible Bidder based on the unit prices for all Work specified.

The Bidder agrees to complete the Project for the following unit prices:

Item	Description			 Unit Cost	Amount
1	Mobilization, Max. 5%	1	LSUM	\$ 53,625,00\$	53,625.00
2	Digital Video Recorded Survey	1	LSUM	\$ 2200.00 \$	2200.00
3	Erosion Control, Silt Fence	750	FOOT	\$ 1.50 \$	1125.00
4	Erosion Control, Inlet Protection	25	EACH	\$ 25.00 s	3125.00
5	Erosion Control, Check Dam, Stone, Temp	150	FOOT	\$ 15.00 s	2250.00
6	HMA Surface, Rem (Road)	17,700	SYD	\$ 3.25 \$	57525.00
7	HMA Surface, Rem (Drives)	1,000	SYD	\$ 9.06 \$	9000.06
	CITY OF NOVI Rev 3/12/15			7	7/22/15

8	Asphalt Spillway, Rem	25	SYD	s 10.00 s 250.06
9	Conc Pavt, Rem (Drives)	650	SYD	\$ 15.00 \$ 9750.00
10	Sidewalk, Rem	10	SYD	8.00 s 80.00
11	Culv, Rem	140	FOOT	s 26.00 s 3640.00
12	Conc, Curb and Gutter, Rem	50	FOOT	\$ <u>20.00</u> <u>\$1000.00</u>
13	Station Grading	73	STA	\$ 1750.00 \$ 127,750.00
14	Ditch, Regrade	300	FOOT	s 40.00 s 12,000.00
15	Culv, Cl IV <u>C</u> , CMP, 12"	140	FOOT	s 45.00 s 6300.00
16	Culv, Cl IV <u>C</u> , CMP, 15"	15 <u>30</u>	FOOT	s 46.00 s 1380.00
17	Culv, Cl IV <u>C</u> , CMP, 18"	15 <u>30</u>	FOOT	s 50.00 s 1500.00
18	Culv, End Sect, CMP, 12"	20	EACH	s <u>300.00</u> s 6000.00
19	Culv, End Sect, CMP, 15"	4	EACH	\$ <u>32500</u> \$ <u>1300.00</u>
20	Culv, End Sect, CMP, 18"	4	EACH	\$ <u>350.00</u> \$ <u>1400.00</u>
21	Subgrade Undercutting, Type II, Modified	700	CYD	\$ 40.00 \$ 28,000.00
22	Aggregate Base, CIP, Limestone	6,500	TON	\$ 26.00 \$ 169,000.00
23	Pavement Interlayer	17,830	SYD	s 4.25 s 75,777.50
24	Geo-grid Reinforcement	19,040	SYD	\$ <u>4.25</u> \$ <u>80,920,06</u>
25	HMA, 5E1, Road	2,100	TON	\$ <u>85.99</u> \$ <u>180,579.00</u>
26	HMA, 3C	2,100	TON	\$ <u>81.46</u> \$ <u>171,066.00</u>
27	HMA, 5E1, Drives	1,000	SYD	s 18.60 s 18,600.00
28	Spillway, HMA, 2-inch	25	SYD	\$ <u>30.00</u> \$ <u>750.00</u>
29	Conc Pavt, NonReinf, 6", Drives	650	SYD	\$ 50.00 \$ 32.500.00
30	Conc, Curb and Gutter, Type D2 (MDOT)	50	FOOT	s 25.00 s 1250.00
31	Underdrain, 6"	200	FOOT	s 15.00 s 3000.00
				7/22/16



7/22/15

32	Aggregate Shoulder, 21AA, Limestone	140	CYD	s 60.00 s 8400.00
33	Maintenance Aggregate, 21AA, Limestone	120	TON	<u>\$ 30.00</u> <u>\$</u> 3600.00
34	ADA Ramp, Conc	100	SFT	s 6.00 s 600.00
35	Sidewalk, Conc	100	SFT	s 5.00 s 500.00
36	Butt Joint, 2' Wide	380	SYD	s 4.00 s 1520.00
37	Drainage Structure Cover, Adjust	6	EACH	\$ 350.00 <u>\$</u> 2100.00
38	Drainage Structure Rebuild, 2' Dia, 2'-3' Depth	3	EACH	s 75.00 s ZZ5.00
39	Sanitary Manhole Cover, Adjust	12	EACH	s 525.00 s 6300.00
40	Water Gate Well Cover, Adjust	2	EACH	s <u> </u>
41	Restoration	1	LSUM	\$ 7500.00 \$ 7500.00
42	Minor Traffic Devices	1	LSUM	s <u>63,000.00</u> s <u>63,000.00</u>
43	Traffic Regulator Control	1	LSUM	s 15,000.00 s 15,000.00
44	Plastic Drum, High Intensity, Furn	150	EACH	s 17.95 s 2692.50
45	Plastic Drum, High Intensity, Oper	150	EACH	s <u> </u>
46	Sign, Type B, Temp, Prismatic, Furn	300	SFT	s 3.00 s 900.00
47	Sign, Type B, Temp, Prismatic, Oper	300	SFT	s 1,00 s 300.00
48	Barricade, Type III, High Intensity, Double Sided, Furn	10	EACH	s 74.95 s 749.50
49	Barricade, Type III, High Intensity, Double Sided, Oper	10	EACH	s <u> </u>
50	Lighted Arrow, Type B, Furn	2	EACH	s 495.00 s 990.00
51	Lighted Arrow, Type B, Oper	2	EACH	s <u>1.00</u> s 2.00
52	Sign, Remove and Reset	30	EACH	s 100.00 s 3,000.00
53	Post Mailbox, Remove and Reset	110	EACH	s 150.00 s 16,500.00
54	Sprinkler Head, Relocate	12	EACH	s 95.00 s 1140.00
55	Boulder, Relocate	150	EACH	s 75.00 s 11,250.00
	CITY OF NOVI			7/22/15



Page 19

56 Crew Days

65 CDAYS \$ 640.00 \$ 41,600.00

Total Bid Amount:

s 1,251,421.50

If the foregoing Bid shall be accepted by the OWNER, the undersigned agrees to enter into the attached form of Agreement within ten (10) days after receiving notice of such acceptance, will furnish the OWNER satisfactory bonds and certificates of insurance coverage, and will complete the Project, at the price and within the time stated in this Bid.

The undersigned further agrees that if the foregoing Bid shall be accepted, work will commence immediately after the Contract has been awarded, the Agreement executed, and a Notice to Proceed received. The undersigned shall complete the Work to Substantial Completion within 50 calendar days, and to Final Completion, including restoration and all punch list items, within 65 calendar days.

The undersigned attaches hereto its Bid security, as required by the Advertisement for Bids and Instructions to Bidders. The undersigned agrees that in case it shall fail to fulfill its obligations under the foregoing Bid, and/or shall fail to furnish bonds, as specified, the OWNER may, at its option determine that the undersigned has abandoned its rights and interests in such Contract and that its Bid security accompanying its Bid; has been forfeited to the said OWNER, but otherwise the Bid security shall be returned to the undersigned upon the execution of the Contract and the acceptance of the bonds.

The undersigned also agrees that for each and every calendar day that he may be in default of Substantial Completion of the Work, within the time specified in this Bid, the OWNER will suffer a damage of NINE hundred dollars (\$900.00) per day, and said OWNER shall be compensated therefore at the rate as liquidated damages in accordance with the Agreement.

In submitting this Bid, it is understood that the right is reserved by the OWNER to accept any bid, to reject any or all Bids, and to waive irregularities in bidding in the interest of the OWNER.

SUBMITTED on 8-12-15 51777 WEST 12 MILE WIXOM, M1 48393 248-380-3650 Telephone Number* 248-347-2589

ADILLAC ASPHALT LLC ale R. Milta ALE R. MCINTYRE Name and Title of Signatory*

AREA MANAGER

*Typed or printed in ink.



CITY OF NOVI Rev 3/12/15

BIDDER'S QUALIFICATION AND EXPERIENCE STATEMENT

The OWNER will require supporting evidence regarding Bidder's Qualifications and competency. The Bidder will be required to furnish all of the applicable information listed below, which must be submitted with the sealed Bid at the time of Bid Opening. The Qualifications and Experience Statement must be typewritten and signed in ink.

A fill-in-the blank version of this form is available for your convenience on the City of Novi's website (<u>www.cityofnovi.org</u>) under Forms & Permits/Public Services.

QUALIFICATIONS AND EXPERIENCE STATEMENT

The undersigned certifies under oath that the information provided herein is true and sufficiently complete so as not to be misleading.

Submitted to: <u>ĆITY OF NOVI</u>	
Address:	
Submitted by: DALE R. MCINTY	
Name: <u>CADILLAC</u> AS	PHALT LLC
Address:	12 MILE
City, State, ZIP WIXOM, MI,	48393
Telephone Number: 248-380-3650	Fax Number: 248-397-2589
Principal Office: 2575 HALGERTY R	20AD SUITE 100 CHANTON,
Corporation:	Joint Venture:
Partnership:	Other:
Individual:	
Name of Project: 2015 NEILHBOR	HOOD ROADS ASPHALT PROGRAM
Type of Work (file separate form for each classification	n of work):
General: MILLING, PAVING, GROUND	Plumbing:
HVAC:	Electrical:
Other: (Ple	

[Engineer to modify list of applicable trades experience, tailored to requirements of the project.]

51

2015 Neighborhood Roads Asphalt Program

Organization

How many years has your organization been in business as a CONTRACTOR?

50 YEARS

How many years has your organization been in business under its present business name?

YEARS 12

Under what other business names has your organization operated?

CAPILLAC ,	ASPHALT	PAVING	Š	THOMPSON	MLCULLEY
If your organization is a	-		ng:		
Date of Incorporation:	JULY	2003			
State of Incorporation: _					
President's Name:	GENERAL	MANAL	ER	- AArON	Price
Vice President's Name:_	BOARD	OF DIR	EC	TORS	
Secretary's Name:	JOHN PO	WERS	Ŀ	REG CAMP	BELL
Treasurer's Name:	SCOTT C	ARSON	ß	RAD CRITF	IELA

If your organization is a partnership, answer the following:

Date or Organization:
Type of Partnership:
Type of Farmersmp.
Names of General Partners:
If your organization is individually owned, answer the following:
Date or Organization:
Name of OWNER:
If the form of your organization is other than those listed above, describe it and name the principals:



Licensing

List jurisdictional and trade categories in which your organization is legally qualified to do business, and indicate registration or license numbers, if applicable:

MOOT PRE QUALIFICATION 05184 OAKLAND, MACOMB, WASHTE NAW COUNTIES

List jurisdiction in which your organization's partnership or trade name is filed:

MDOT, WAYNE COUNTY

Experience

p.

J

List the categories of work that your organization normally performs with its own forces:

ASPHALT PAVING & ASPHALT MILLING

On a separate sheet, list major construction projects your organization has in progress. List the name of project, owner, architect/engineer, contract amount, percent complete, and scheduled completion date.

ADDITIONAL INFORMATION AJACIABLE DPON REGUEST On a separate sheet, list the major construction projects your organization has completed in the past five (5) years. List the name of the project, owner, architect/engineer, contract amount, date of completion, and percentage of the cost of the work performed with your own forces.

ADDITIONAL INFORMATION AVAILABLE UPON REQUEST On a separate sheet, list the construction experience and present commitments of the key individuals of your organization who would be employed in the Work.

ADDITIONA INFORMATION AVAILABLE UPON REQUEST Claims and Suits

If the answer to any of the questions below is yes, please attach details.

Has your organizations ever failed to complete any work awarded to it?

NO

Are there any judgments, claims, arbitration proceedings or suits pending or outstanding against your organization or officers?



2015 Neighborhood Roads Asphalt Program

Has the City of Novi filed a claim on any contract within the prior three years which asserted that your organization:

1) failed to perform as required by the contract?

YES

 $\underline{}$ NO

2) completed contracted work in an untimely manner causing delays and interference;

YES

3) lacked financial resources and the ability to satisfactorily perform the contract or provide the services or supplies;

YES

<u> X </u>no

4) exhibited poor quality of performance or completed work under the contract;

YES

5) failed to comply with laws and ordinances relating to the contract performance;

___YES ____NO

6) defaulted on its quotations or prices;

YES

Û

Ţ

References

Entity	Contact Name	Phone	
Trade References			
1. COLEWELL	BILL BLEIR	734-397-2120	
2. WORDEN BROTHERS	JOHN WORDEN	517-278-6485	
3. MICHIGAN CAT	CREDIT DEPT	248-349-4800	
Bank References			
1. COMERICA BANK	AURORA	313-227-5280	
2.			
3.			
Surety			



Name of Bonding Company:	RICHMON	D AGEN	NCY	
Name of Bonding Agent:	JEANIE	RAVERT		
Address of Bonding Agent:	PO BOX	907		• • • • • • • • • • • • • • • • • • •
JACK	SON, MI	49209	ŀ	
SUBMITTED on <u>2-11-1</u>	S Date*	Da	Name of Bidder* Name of Bidder* le R. M. Hold Signature R. Mc INTYRC Name and Title of Signator	AREA MANAGEN
*Typed or printed in ink.				
DALE R. Mc INTYR provided herein is true and suffic			ooses and says that the leading.	information
Subscribed and sworn before me	Ind		Δ ,	20 /S .

Subscribed and sworn before me this	1202	day of	Dugust	20/5.
Notary Public: Panel R. B	ersend		9	

My Commission Expires: 3/10/22IF THIS INFORMATION IS NOT SUBMITTED WITH THE SEALED BID AT THE TIME OF BID, THE BID WILL BE CONSIDERED INCOMPLETE.

> PAMELA L. LESSARD NOTARY PUBLIC, STATE OF MI COUNTY OF OAKLAND MY COMMISSION EXPIRES Mar 10, 2022 ACTING IN COUNTY OF OCULICM A



CERTIFICATE OF SECRETARY

The undersigned, being the duly elected and acting Secretary of Cadillac Asphalt, LLC, a Michigan limited liability company, hereby certifies that the following are authorized to execute on behalf of Cadillac Asphalt, L.L.C., any and all contracts, lien documents and waivers with governmental and private entities.

Denny West Ahmad Osman Bill Brownell Dale McIntyre Jeffery Goretski Aaron Price Julie Snurka Dennis Rickard Mike Randazzo Lonnie Schaub Brandon King Mike Zelenock Brad Hillard Kyle Toteff Robert Liddell Gregg Campbell Jim Bliss Jeremy Bagnell

2-25-15 Date

Bill Brownell Secretary